EARAROBREBRT —5 XN—ZXBISH—F

20226678268 (A) 8EIPIRIE

MR HESFIRIERA —T V8 USR 2R B
[xE<%] 1 & :500,000 M  23&:140,000 @  33#&:105,000 ™ . 43%&:70,000 ™ 5 3&:35,000 H
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ " BREBISE :07. - . - HeEa JLEE)
11| FuveRY wE— 8 2 54.0132 1(0_7)3 1-1 37.8 2 (4_526) ] 8
RFIPITRTVR B2V ) T—H R LIS
= N A0 P BREE :07. - . - INEFE (biEiE)
N B 2 | E e [ a2 (e = 9 | e g GE
RiVYRITZIVIR B:FT4—XTPS54RX Gl e
= o— ERE_ : - . - JISEAN JLEE)
37| 7 | FINSFIFTRS 2| ok 1'?2)'7 ot B 1 (4320) IRERZEA .
RiN—HANR B:y—I—-19h HEWS
S /§ 3| : - - X (dse)
4 4 JOg—AYX— 4t 2 il = 1(70%? 4-3 38.9 9 (4::62) £’(§IEE§
RINMVTSY B:UI—LAR Ud—T77—L4
I~ 4 2 | HERE 1:09.3 7-8 38.5| — 8 450 | WEIFE (bisE)
58| 9| 7OYY /A 50 Q1) Co | B
R:FA4—T2ANA B:RU—LIAIIA SRR
3 == # 2 | BHET 1:09.3 2-4 39.5) — 6 412 | EAARER JbsE)
1 VI 54.0 o) 6 |EBE— "
R~/ TSY ‘J g:7—<v7 Ng EL
= t 2 | BT 1:09.3 7-4 38.5| — 5 a6 | AR (beE)
7188 3ATSTUSUYT g 5.0 (FI) *2) Lf*ﬁ‘) Z‘UI‘JIF%U%
RPRIAVPIYIR 8:IJ7YITUY HRAt EKS
o) = &S‘ch : - - NEFT (JEE)
Y - ERZAU RS %2 | B8 e 57 |37 D e
RINRZAKIA—U7 B:IEFFZIXAEY A fE—
~ ~, 2 | MHfdth 1:10.2 9-9 38.8| — 7 456 | ISR (JbiEE)
9|55 | BYIAVT # 54,0 ) -2 (g) t(e‘;]):?ﬁ’b—ya‘/
R:€r/O0704 8B:NSTVah NET7—L
@ 11— —‘@BIEfI
13—7F—
20—7F—
30—7— 1,(2,3),4,6,7,(8,9) .5
43—F— 1,3.4,(2,7,8).,6,9,5
0 ILRE
BB 1 280 JA R 1-3 220 & 1-3 540 3EE 1-3-7 3708
B B 1 120 =7 190H 5B E 1=3 540 3EE 1-3-7 1,790
3 130 3-7 140MH o= 1-3 1,080
7 120/
ABCDOVTIRHTERERRODDZ, THERAILZETL




